LJA Engineering, Inc.

Po# 137088 Poc 4635251

2929 Briarpark Drive Suite 600 Houston, TX 77042

Phone Fax

713.953.5200 713.953.5026

www.ljaengineering.com

Fort Bend County County Auditor 301 Jackson 4th Floor Richmond, TX 77469

Attention: Jillian Peterson

Invoice Date: Invoice No.: 9/12/2018 201813531 1704-1601

Project No.: Bill No.: P.O. NO.:

1704-1601 29 137088

INVOICE

Description:

Fort Bend County 2013 Bond Projects PMC

For Professional Services Rendered:

7/27/18-8/31/18

Phase Description	Contract Limits	Remaining Balance	Invoiced to Date	Previously Invoiced	Invoice Amount
901 - Coordination with Design Engineers	\$143,730,45	\$439.79	\$143,290.66	\$143.062.23	\$228.43
902 - Plan Review	\$93,100.45	\$2,871.43	\$90,229.02	\$90,229.02	\$0.00
903 - Utility Coordination	\$90,500.00	\$95.57	\$90,404.43	\$90,176.00	\$228.43
904 - Project Management	\$85,457.33	\$48.88	\$85,408.45	\$85,357.33	\$51.12
905 - Bidding Phase	\$61,211,77	\$0.00	\$61,211,77	\$61,211,77	\$0.00
909 - Project Reserve	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
Z99 - Other Direct Costs	\$6,000.00	\$59.44	\$5,940.56	\$5,637.52	\$303.04
TOTAL	\$480,000.00	\$3,515.11	\$476,484.89	\$475,673.87	\$811.02

TOTAL AMOUNT DUE THIS INVOICE

\$811.02

The invoice is true and unpaid.

Approved By:

Robert Barnett

04,533 09/14/18



2929 Briarpark Drive

Suite 600

Phone 713.953.5200 Fax 713.953.5026

Houston, TX 77042

www.lja.com

September 12, 2018

Invoice No: 201813531

For services through 8/31/2018

Remit Payment To:

LJA Engineering, Inc.

2929 Briarpark Drive, Suite 600

Houston, TX 77042

Bill To:

Jillian Peterson
Fort Bend County
County Auditor
301 Jackson
4th Floor
Richmond, TX 77469

Project No: 1704-1601

Fort Bend County 2013 Bond Projects PMC

P.O. No. 137088

T&M Phase:	901 - Coordination with Design Enginee	rs			
Professional	Services	Billed Hours	Billed Rate	Current Billed	
Project Mana	ger				
Barnett, R	obert	1.00	228.43	\$228.43	
Subtotal		1.00		\$228.43	
			Subto	tal Before Limits	\$228.43
Billing Limits	3	Current	Previous	Total	
Billed 7	Γο Date	\$228.43	\$143,062.23	\$143,290.66	
Contra	ct Limit			\$143,730.45	
Remai	ning			\$439.79	
	Total For Pha			or Phase: 901	\$228.43
T&M Phase:	902 - Plan Review				
Billing Limits		Current	Previous	Total	
Billed 1	o Date	\$0.00	\$90,229.02	\$90,229.02	
Contra	ct Limit			\$93,100.45	
Remair	ning			\$2,871.43	
		Total For Phase: 902			

T&M Phase: 903 - Utility Coordination

Professional Services	Billed Hours	Billed Rate	Current Billed
Project Manager			
Barnett, Robert	1.00	228.43	\$228.43
Subtotal	1.00		\$228.43

			Subtotal Before Limits		\$228.43
Billing Limits		Current	Previous	Total	
Billed To Date		\$228.43	\$90,176.00	\$90,404.43	
Contract Limit				\$90,500.00	
Remaining				\$95.57	
			Total F	or Phase: 903	\$228.43
「™ Phase: 904 - Project Management					
Professional Services		Billed Hours	Billed Rate	Current Billed	
Clerical					
Alvarez, Patricia		1.00	51.12	\$51.12	
Subtotal		1.00		\$51.12	
			Subto	otal Before Limits	\$51.12
Billing Limits		Current	Previous	Total	
Billed To Date		\$51.12	\$85,357.33	\$85,408.45	
Contract Limit				\$85,457.33	
Remaining				\$48.88	
			Total F	or Phase: 904	\$51.12
**EM Phase: 905 - Bidding Phase Billing Limits Billed To Date Contract Limit Remaining		Current \$0.00	Previous \$61,211.77	Total \$61,211.77 \$61,211.77 \$0.00	
			Total For Phase: 905		\$0.00
&M Phase: Z99 - Other Direct Costs					
Reimbursable Expenses				Current Billed	
Mileage				\$303.04	
Subtotal				\$303.04	
			Subto	tal Before Limits	\$303.04
Billing Limits		Current	Previous	Total	
Billed To Date		\$303.04	\$5,637.52	\$5,940.56	
Contract Limit				\$6,000.00	
Remaining				\$59.44	
			Total Fo	or Phase: Z99	\$303.04
			Market and the second s		
			Total A	mount Due	\$811.02
r e	Current	Previous	Total		

BTD for Total Project

\$811.02

\$475,673.87

\$476,484.89

Approved By:

Robert Barnett

BILLING B	ACKUP			W	ednesday, Sep	tember 12, 2018	11:37:56 AM
T&M Phase:	901 - Coordinati	on with Design E	ngineers				
	ssional Services ot Manager			Date	Billed Hours	Billed Rate	Current Billed
	bert Barnett	T306381		08/23/18	1.0000	\$228.4311	\$228.43
	A. Myers ROW and I	Utility Coordination	for BWA pipeline			V ==0.1011	\$220. 10
					Tatal	Di 004	2000 40
				X III W W	lotai Fo	or Phase: 901	\$228.43
T&M Phase:	903 - Utility Coor	rdination					
	ssional Services t Manager			Date	Billed Hours	Billed Rate	Current Billed
	bert Barnett	T304878		08/07/18	1.0000	\$228,4311	\$228.43
				33,31713			
				302-0-10-1	lotalFo	or Phase: 903	\$228.43
T&M Phase:	904 - Project Mar	nagement					
Profes Clerica	ssional Services			Date	Billed Hours	Billed Rate	Current Billed
Pat	tricia Alvarez	T306363		08/21/18	1.0000	\$51.1174	\$51.12
	revise/research CO1						,
					Total Fo	r Phase: 904	\$51.12
T&M Phase:	Z99 - Other Direc	t Costs		TO ANNUAL DESCRIPTION OF THE PROPERTY OF THE P			
			Invoice			Unit	Current
Reimb Mileag	oursable Expenses		Number	Date	Quantity	Rate	Billed
121000 10	e oert Barnett	E21552		04/12/18	68.0000	\$0.5450	¢27.06
	Drive to Sycamore Re		th Post Oak Road				\$37.06
	Post Oak construction	n and field conditior	s of Post Oak Roa	d detention pon	id site.	ok status of	
	pert Barnett	E21552		04/17/18	52.0000	\$0.5450	\$28.34
	Drive to FBC Commis		Monthly status mee	eting on Pct 1 20	013 Bond Proje	cts.	
	pert Barnett	E21552		04/24/18	45.0000	\$0.5450	\$24.53
	Drive to Jobsite of Po		et with Contractor	and CM on fend	cing conflict.		
	pert Barnett	E21552		04/25/18	46.0000	\$0.5450	\$25.07
	Drive to Fort Bend Co		ce for Monthly RO		1985 CE 1000 1000 100		
	pert Barnett	E21552	_	05/01/18	56.0000	\$0.5450	\$30.52
	Drive to Offics of FBC		ng on South Post (
	pert Barnett	E21552		05/07/18	51.0000	\$0.5450	\$27.80
	Drive to FBC Enginee	ers Office for Pre-bio	d Meeting on Sans	bury and A, Mye	ers Road		

\$811.02

Total Amount Due

Reimbursable Expenses	Inve Num	oice ober Date	Quantity	Unit Rate	Current Billed
Robert Barnett	E21552	05/15/18	62.0000	\$0.5450	\$33.79
Drive to FBC Commissi Relocation.	oner's Office for Monthly Sta	atus Meeting and to S	Sansbury site to ve	erify Utility	
Robert Barnett	E21552	05/30/18	67.0000	\$0.5450	\$36.52
Drive to Fort Bend Cour Creek.	nty Drainage District and reti	urn. Meeting on A M	yers Road outfall	and Dry	
Robert Barnett	E21552	06/27/18	59.0000	\$0.5450	\$32.16
Drive to FBC Engineers	office for Pre-construction M	Meeting for A Myers F	Road		
Robert Barnett	E21552	06/28/18	50.0000	\$0.5450	\$27.25
Drive to FBC for Meetin	g on Braxton Road Waterlin	e Relocation			
			Total For	Phase: Z99	\$303.04
		To	otal Time and Ma	aterial Fees	\$811.02

Fort Bend County 2013 Mobility Projects Precinct 1 - Bond Projects Progress Report August 2018

- 1. Coordination on utilities along Berdett Road at A Myer Road.
- 2. Coordination with Fort Bend County and S&B Engineers regarding Contract Amendment for Reading Road.
- 3. Coordination with Right of way group for property acquisition on Old Needville-Fairchilds Road.
- 4. Attend monthly progress Meeting at Precinct 1 offices August 21, 2018.